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: Answer All Question. All Question carry equal marks.
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9.

Describe and Define accounting principles and write their Significance and
Limitations.
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Journalise the following transactions:

Commenced business with cash Rs.1,20,000 and goods worth Rs. 80,000.

Sold goods to Dinesh Rs. 8,000.

Received Cheque from Dinesh in full Settlement Rs. 7,900.

Purchased goods from Mahesh Rs. 3,500.

Drew Rs. 800 for repair of own house.

Amount deposited into bank Rs. 12,000.

Sold goods to Ram at 5% trade discount and 4% cash discount for cash Rs. 5,000.
Purchased goods from Naresh at 6% trade discount and 5% cash discount for cash
12,000.

Received orders for goods from Ramesh Rs. 6,500.

10.Goods worth Rs. 7,000 get destroyed due to fire and the insurance company

accepted the claim.
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What do you understand by rectification of Errors, Explain clearly one-sided & Two
sided errors and their rectification. :
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The Following balance are extracted on 31% march 2019 from the books of Mr.David:

Particular Rs. Particular Rs.
Capital 24,500 Loan 7,880
Drawing 2,000 Sales 65,360
General expense 2,500 Purchases 47,000
Building 11,000 Motor Car 2,000
Machinery 9,340

Opening Stack 16,200 Provision for Bad Debts 900
Coal and Power 2,240 Commission {Cr.) 1,320
Taxes and Insurance 1,315 Car Expenses 1,800
Wages 7,200 Bills Payable 3,850
Debtors 6,280 Cash in hand 80
Creditor 2,500 Bank Overdraft 3,300
Discount (Dr.) ' 550 Donation 105

Prepare the final Accounts for the year ended 31* march 2019 after taking into
account of the following adjustments:
1. Write off Rs. 160 for bad debts and make provision for bad debts 5% on debtors.
2. Depreciate machinery by 10% and Motor Car by 12%.



3. Interest of Rs. 750 is outstanding on Loan and Bank Overdraft.
4. It was decided to start a charity fund by transferring Rs. 250 every year to the
charity fund. -
5. 1/3 Rs. Of car expenses and Depreciation amount is to be transferred to owner’s
account,
- 6. Stock Valued on 31 march 2019 Rs. 23,500.
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What is reserve? How is it Created? Explain in brief, its disadvantages.
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A manufacturing concern whose books are closed on 31® march purchased a
machine for Rs. 50,000 on 1°* April 2015, Additional machine was acquired for
10,000 on 1% October 2016 and for Rs. 16,000 on 1% April 2019.The machine
purchased for Rs. 10,000 on 1* October 2016 was Sold for Rs.
5,000 on 30" September 2018.

Prepare machinery account and deprecation account on writer down value
method. '
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What is the meaning of branch account? How many types of branches are? What
Are the rules of making record in them?
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On 1* January 2000 a printing company purchased machinery on the Instalment
payment system. The cash price of the machinery is Rs. 4,000 Rs. 800 are paid on
delivery and four annual instalments of Rs. 800 each are paid every year on 31
December. in addition, interest is to be charged at 6% per annum on yearly balance.
Show the necessary accounts in the books of the printing company assuming that all
Payments were duly made. :
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What is Partnership deed? What rules shall be application against partners in the
absence of Partnership deed?
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Rs.54,000 Rs.54,000
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Partnership firm of x, y, z was dissolved. Its Bala nce sheet as at 31% December 2008
Was as under:

x's Capital 18,000 Machinery 20,000
y’s Capital 15,000 Stock 17,000
2’s Capital 10,000 Debtors 15,000
Sundry Creditor 8,000 Cash 2,000
Qutstanding 1,000 -

Expenses 2,000

Reserve Rs.54,000 Rs.54,000

x, y and z were sharing profits and losses as 5:3:2 Machinery is sold for Rs. 15,000
and stock for Rs. 18,000 In addition, stock worth Rs. 2,000 was taken over by X
Debtors realised Rs. 11,000 creditors were paid Rs. 7,000 in full settlement. Rs,
1,000 were spend on realisation expenses. Prepare Realisation Account, Partners
Capital Account and Bank Account.




